1 2 3 4 5 6 7 3 9 10 11 12

Non e permesso consegnare o ferzi o riprodurre questo documenta, ne utilizzame il conferute o renderla comungue noto a terzi
Senza autorizzazione esplicita, Ogni infrazione costifuira un evidente douse e comportera 1l risar cimento del danni subifi.

E'fofta riserva di tutti i diritti derivonti do brevetti ¢ modelli.

autorisation expresse, Tout manquement o cette regle constitue un ohus evident el expose son auleur cu versement de dommages &

Toute Communicafion ou reproduction de ce document, foute explofiotion ou communication de son confenu sont inferdites, souf
interets. Tous droits de propriete industrielle reserves, notamment en matiere de brevets et de modeles.

PR%\“B EIQRT mﬁs] NUMBER SF COILS THROEAD WRENCII?-I SIZE THITDEAD WRENCIS-I SIZE MATERIAL TABLE
. PROVIA PART | MATERIAL
PRO 711 056 O | 0.489 2141 M16x1.5 EXTERNAL / DESIGN | 22 M16x1.5 EXTERNAL / DESIGN | 2 NUMBER SYMBOL MATERIAL TYPE SURFACE
PRO 711 057 O | 0.489 2141 M16x1.5 EXTERNAL / DESIGN | 22 M16x1.5 EXTERNAL / DESIGN | 22 1 MULTILAYER (PA12/PAG/PAT2) | BLACK
PRO7TN1058 0  0Q.517 2141 M22x1.5 EXTERNAL / DESIGN | 27 M22x1.5 EXTERNAL / DESIGN | 27 PRO m 056 0 2 STEEL MAT ZINC
PRO 711 059 0 | 0.517 2141 M22x1.5 EXTERNAL / DESIGN | 27 M22x1.5 EXTERNAL / DESIGN | o7 558 I 828 8 3 BRASS i
PRO 711 060 O | 0.491 2141 M16x1.5 EXTERNAL / DESIGN | 22 M18x1.5 INTERNAL / DESIGN I 22 PRO 7T 062 0| 4 BRASS i
PRO 711 061 O | 0.491 2141 M16x1.5 EXTERNAL / DESIGN | 22 M18x1.5 INTERNAL / DESIGN 1| 22 5 PLASTIC RED
PRO 711 062 O | 0.493 2141 M18x1.5 INTERNAL / DESIGN 1| 22 M18x1.5 INTERNAL / DESIGN I 2 1 MULTILAYER (PA12/PAG/PAT2) | BLACK
PRO 71 063 0 | 0.493 2141 M18x1.5 INTERNAL / DESIGN I 22 M18x1.5 INTERNAL / DESIGN II 2 PRO 711 057 O 2 STEEL MAT ZINC
T oy 4 pass
- ~4000 - 5 PLASTIC YELLOW
10 +20/-10 \

- 4) 16

\ H—-—

— \ - \

\ ‘ ] / v
/ n_‘ m‘ /\\ a_‘ l i
i DESIGN I il
5

10 +20/-10

MEDIUM:  AIR (ACC. TO JED-848)
PERMISSIBLE TEMPERATURE RANGE: -40°C to +100°C
PERMISSIBLE WORKING PRESSURE:  MAX. 1000 kPa (10 bar)

MARKING: ProVia /PROVIA PART NUMBER/ - 1SO 7375 / IS0 7628 - - } - - -

\F AJ B—/ CJ/ DJ E—/ I1SO 7375, TYPE 1
REQUIREMENT STANDARD: |30 vava: CATEGORY 2

Copying of this document and giving it fo olhers and the use or communicotion of the confents thereof, are forbidden without express

authority, Contravention of this restriction will constitute an evident abuse and result in o lichility 1o the payment of domages. All rights
ore reserved in the evenl of the grant of patent or registration of a ufility model or design. This document is the subject of copyright.

A - CATEGORY OF MATERIAL STANDARD {1 ) TUBE OVALITY: 2 +1/-2 m

B - QUTSIDE DIAMETER TIMES WALL THICKNESS

C - MATERIAL (ACCORDING TO 15O 1043-1) {2 )MANUFACTURER INTERNAL DEFINITION
D - MANUFACTURER DESIGNATION ,

E - DATE OF MANUFACTURE (ACCORDING TO SUPPLIER’S STANDARD) {3 ) MARKING REPEATS EACH 350MM

F - TRADEMARK: (HELVETICA FONT. MIN SMM HEIGHT. CONTRASTING COLOR)

PART CORROSION PROTECTION LEVEL:
72 HOURS WITHOUT BASE METAL CORROSION

EXAMPLE: Provig PRO 711 056 O - 1S0 7375 / 1SO 7628 - CAT.2 - 12X1.5 - XXX.XX (PA12/PA6/PAI2) - 123456 - 4115 - 15 - 098 - 15:08:26 @ NSS TEST ACC. TO IS0 9227

ENGINEERING RELATED AGREEMENTS WITH SUPPLIER HAVE TO BE MENTIONED IN THE "RELEASE OF SUPPLIER GENERAL SPECIFICATION: 1SO T375: 1SO 7628: 1S0 1043-1: JED-367: JED-622; JED-762

nicht ausdruecklich zugestanden. Zuwiderhandlungen stellen einen offensichtlichen Misshrauch dor und verpflichten zu Schadenersotz.

Weiterqobe sowie Vervielfoelligung dieser Unterlage, Verwertung und Mitteilung ihres Inhalts nicht gestattet, soweit

g

L}%

ko5

jzf General specificotion:  JED-3324-1 , Size 150 14405 LP Copyricht WwaBCO® P —v— @
% Further Technical Data: Dale | Signature ro Ia

~ Drain H

= Doc. Code: ‘ Sheste To 2018-04-06 ‘ _ Coiled Tube

; General Talerances JED-261 Checked WS

;?_E; Range of Nomingl Dimensions ( 4 mm) 2018-04-09 ‘ Marcinkiewicz

2 L1802 0t < Powowsk

= Closs 1 | = 30 | = 180 |2 400|» 400 1

S . Moss Senle Materiol No. Date of first issue: 2015-06-29
k= Fine 0.5 1.0 1.5 2.0 Doc.Code | La Sheet
o . o - NTS . nguage Be
. Medum | x| 1.0 | 2.0 | 3.0 | 4.0 | £3 KG PRO 711 069 O 053 EN | V1
3 Coorse 20135130 ] 65 Sz |[CAD System

&= Topped Holes aco. - A 2 CRED g @ FCN-No. Revision Techn. Resp. Replacement for

é 1) Tolerance Closs Applied Crossmarked 176866 1x D 5630_AM -

%

1 2 3 4 5 6 7 8 9 10 = o =




